

$$1. \sum_{k=1}^{\infty} \frac{(-1)^{k-1}}{k^2 4^k} \quad L = \lim_{k \rightarrow \infty} \left| \frac{(k+1)^2 4^{k+1}}{4^k k^2} \right| \rightarrow \lim_{k \rightarrow \infty} \left| \frac{1}{(k+1)^2 4^{k+1}} \cdot \frac{4^k \cdot k^2}{1} \right|$$

if  $L < 1$  then series converges:  $\frac{1}{4} < 1$   
 - absolutely convergent

$$\lim_{k \rightarrow \infty} \left| \frac{k^2}{(k+1)^2 \cdot 4} \right| = \frac{1}{4} = L$$

$$2. \sum_{k=0}^{\infty} \frac{(-1)^{k-1}}{\sqrt{2k+3}} \quad L = \lim_{k \rightarrow \infty} \left| \frac{1}{\sqrt{2k+3}} \right| \rightarrow \lim_{k \rightarrow \infty} \left| \frac{\sqrt{2k+5}}{\sqrt{2k+3}} \right| = 1$$

if  $L = 1$ : inconclusive

Integral  $\int_0^{\infty} \frac{1}{\sqrt{2x+3}} dx = \int_0^{\infty} \frac{1}{2\sqrt{u}} du$   $u = 2x+3$   
 $= \frac{1}{2} \int_0^{\infty} u^{-1/2} du$   $du = 2 dx$   
 $= \frac{1}{2} \left[ \frac{\sqrt{2x+3}}{1/2} \right]_0^{\infty} = \sqrt{2x+3} \Big|_0^{\infty} = (\sqrt{2(\infty)+3}) - (\sqrt{2(0)+3}) = \infty$   $\frac{1}{2} du = dx$

A.S.T  $\lim_{k \rightarrow \infty} \left( \frac{1}{\sqrt{2k+3}} \right) = \frac{1}{\infty} = 0$

by A.S.T this is convergent,  
 so this is conditionally convergent

$$1. \sum_{k=1}^{\infty} \frac{(-1)^{k-1}}{(k^2)(4^k)} \quad L = \lim_{k \rightarrow \infty} \left| \frac{1}{(k+1)^2 (4)^{k+1}} \right|$$

$$\lim_{k \rightarrow \infty} \frac{1}{(k+1)^2 (4)^{k+1}} \cdot \frac{(4)^k \cdot (k)^2}{1}$$

$$\lim_{k \rightarrow \infty} \left| \frac{k^2}{(k+1)^2 (4)} \right|$$

$$\lim_{k \rightarrow \infty} \left| \frac{k^2}{4(k^2 + 2k + 1)} \right| = \frac{1}{4} \quad L < 1$$

so the series converges,  $\frac{1}{4} < 1$

absolutely convergent ✓

$$2. \sum_{k=0}^{\infty} \frac{(-1)^{k+1}}{\sqrt{2k+3}} \quad L = \lim_{k \rightarrow \infty} \left| \frac{1}{\sqrt{2k+3}} \right|$$

$$\lim_{k \rightarrow \infty} \frac{\sqrt{2k+3}}{\sqrt{2k+3}} = 1$$

$$\int_0^{\infty} \frac{1}{\sqrt{2k+3}} dk = \int_0^{\infty} \frac{1}{2\sqrt{u}} du = \left. \frac{\sqrt{2k+3}}{1} \right|_0^{\infty}$$

$$= \int_0^{\infty} (u)^{-\frac{1}{2}} du = \left. \frac{1}{\frac{1}{2}} \cdot \frac{\sqrt{2k+3}}{\frac{1}{2}} \right|_0^{\infty}$$

$$= \left. \frac{\sqrt{2k+3}}{1} \right|_0^{\infty} = (\sqrt{2(\infty)+3}) - (\sqrt{2(0)+3}) = \infty$$

$$\lim_{k \rightarrow \infty} \left( \frac{1}{\sqrt{2k+3}} \right) = \frac{1}{\infty} = 0$$

due to A.S.T this series is convergent

conditionally convergent ✓



Test Endpoints:

$$\sum_{n=0}^{\infty} \frac{(-6+3)^n}{(n+1)3^{n+1}} = \sum_{n=0}^{\infty} \frac{(-3)^n}{(n+1)3^{n+1}}$$

Converges by Alt. Series Test

$$\sum_{n=0}^{\infty} \frac{(0+3)^n}{(n+1)3^{n+1}} = \sum_{n=0}^{\infty} \frac{3^n}{(n+1)3^{n+1}} = \sum_{n=0}^{\infty} \frac{1}{3(n+1)}$$

$$\int_0^{\infty} \frac{1}{3x+3} dx = \frac{1}{3} \ln(x+1)$$

Diverges

Interval of Convergence:  $[-6, 0)$

Good Work

3.1.3.1  $f(x) = \ln(1+x) \Rightarrow f'(x) = (1+x)^{-1}$  ✓

3.2)  $\frac{1}{1+x} = \frac{1}{1-x} = \sum_{n=0}^{\infty} (-x)^n = 1 - x + x^2 - x^3 + x^4 \dots$  ✓

3.3)  $\int \sum_{n=0}^{\infty} (-x)^n dx = \int (1 - x + x^2 - x^3 + x^4 \dots) dx = x - \frac{x^2}{2} + \frac{x^3}{3} - \frac{x^4}{4} + \frac{x^5}{5} \dots$   
 $= \sum_{n=1}^{\infty} (-1)^{n+1} \frac{x^n}{n}$  ✓ good

3.4)  $\lim_{n \rightarrow \infty} \frac{x^{n+1}}{x^n} \leq 1 \Rightarrow |x| \leq 1 \Rightarrow \ln(1-1) = -\infty$   
 $\ln(1+1) = \ln(2) \Rightarrow [0, 2]$   
radius of convergence? ✓

$$3.1) f(x) = \ln(1+x) \quad 3.2) f'(x) = \frac{1}{1+x}$$

$$f'(x) = \frac{1}{1+x} \quad \checkmark$$

$$f'(x) = \frac{1}{1-(-x)} = \sum_{n=0}^{\infty} (-x)^n$$

$$= \sum_{n=0}^{\infty} (-1)^n x^n \quad \checkmark$$

$$3.3) f(x) = \int \sum_{n=0}^{\infty} (-1)^n x^n dx = \int (1 - x + x^2 - x^3 + x^4 - x^5 + \dots) dx$$

$$= x - \frac{x^2}{2} + \frac{x^3}{3} - \frac{x^4}{4} + \frac{x^5}{5} - \dots + C \quad \checkmark$$

$$f(x) = \int \sum_{n=0}^{\infty} (-1)^n x^n dx = \sum_{n=0}^{\infty} \frac{(-1)^n x^{n+1}}{n+1} \quad \checkmark$$

$$3.4) \lim_{n \rightarrow \infty} \left| \frac{(-1)^{n+1} x^{n+1}}{(-1)^n x^n} \right| = \lim_{n \rightarrow \infty} \left| \frac{x^{n+1}}{x^n} \right|$$

$$= \lim_{n \rightarrow \infty} |x|$$

$$= |x| < 1$$

$$-1 < x < 1$$

Radius of convergence for

$$\sum_{n=0}^{\infty} (-1)^n x^n \text{ is } 1 \quad \checkmark$$

$$\lim_{n \rightarrow \infty} \left| \frac{x^{(n+1)+1}}{(n+1)+1} \right| / \left| \frac{x^{n+1}}{n+1} \right| = \lim_{n \rightarrow \infty} \left| \frac{x^{n+2}}{n+2} \cdot \frac{n+1}{x^{n+1}} \right|$$

$$= \lim_{n \rightarrow \infty} \left| \frac{n+1}{n+2} \cdot x \right|$$

$$= |x| < 1$$

$$-1 < x < 1$$

Radius of convergence for

$$\sum_{n=0}^{\infty} \frac{(-1)^n x^{n+1}}{n+1} \text{ is } 1 \quad \checkmark$$

$$4. \quad g(x) = -\sqrt{1+x^2}$$

$$\begin{aligned} \sqrt{32} &= \sqrt{16 \cdot 2} \\ &= 4\sqrt{2} \end{aligned}$$

$$4.1) \quad g(1) = -\sqrt{1+1^2} = -\sqrt{2}$$

$$g'(1) = \frac{-1}{\sqrt{1+1^2}} = \frac{1}{\sqrt{2}}$$

$$g''(1) = \frac{1}{(1+1^2)^{3/2}} = \frac{1}{2\sqrt{2}}$$

$$g'''(1) = \frac{-3(1)}{(1+1^2)^{5/2}} = \frac{-3}{\sqrt{32}}$$

$$T_4(x) = -\sqrt{2} + \frac{1}{\sqrt{2}}(x-1) + \frac{1}{\frac{2\sqrt{2}}{2!}}(x-1)^2 - \frac{3}{\frac{\sqrt{32}}{3!}}(x-1)^3$$

$$= -\sqrt{2} + \frac{1}{\sqrt{2}}(x-1) + \frac{1}{4\sqrt{2}}(x-1)^2 - \frac{1}{8\sqrt{2}}(x-1)^3$$

$$4.2) \quad |R_n(x)| \leq \frac{M}{(n+1)!} |x-a|^{n+1}, \quad M \geq |f^{(n+1)}(x)|$$

$$M \geq |f^{(4)}(x)| \text{ from } 0 \leq x \leq 2$$

$$M \geq |-3|$$

$$\boxed{M \geq 3}$$

$$\text{Error bound: } |R_3(x)| \leq \frac{3}{4!} |x-1|^4$$

$$\downarrow$$
$$\boxed{|R_3(x)| \leq \frac{1}{8} |x-1|^4}$$